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1. cilRall 2AGE] HI2oll RiRSd 2IGE RAlE: 5 marks

SR - widlél

9% —- 6los

9c —- Ge

gfd=rd —- 2si
GPTIGR —- ESIGER

2. dilRldli dIsUi sikl 6lid © d sel? 4 marks
Uy 1. dfg PUATgTAGEId | -

Y 2. Yqd: [EPT 964 GIUT:| -

UY 3. YUY 9 3Had! -

Y 4. TAYH AT HAGI -

3.2uii[Sd u€lall 22141 SiaMi 2ANd 216€i0i] GUAIdl 53 As is disy

Gialldl. 8 MARKS

Tdq I SpIvg | (PP, RS, )
>

T o BT | (GTUaT, S, =)

>



s T BRI (adorae Ry, gadaerRy, wderaT)

>

YUY 7 A @RYIH, RigHaH, SReRYTH)

>

5. GEISRRI Y6 dISARYall S3: 8 marks
Example: Tdd 3ifT (U<H, PYUTH)
Answer: Tdd I+ WT@TQH 3ifT|

U4 1. Tdq | (q&IHH, U5H)
Answer:

Uy 2. Taq 3IRT| (R, YHoT)
Answer:

UY 3. T 3if&T1 (aretfers¥, a=i-s)
Answer:

Y 4. TdAq AT | (T, W)

Answer:



